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i f-Hhish TETH S MEWEEREE PP HEAEKFRICLDHEE
23X LR FREAX BARE)5E=9.9, #H)II;Fi5=23.6 BAERE=(14, 9.9), —
)1 5= (13, 23.6)
kX BAE7RE=12.8, FBEIIFiEH=40, AAE)RiE=(8, 12.8), -
)1 Fit=23.6 PR ER I FEts=(13, 39.2),
) Fite=(13, 23.6)
BE wIFE=7.6 =11, 6.7) -
FEX #HH )I|FEt=17.6, B0IE F)IIF1H=9.9 wHH)I7RE=(5, 17.6), -
BHIE F)IRE=(5, 9.9)
XRX ) FRE=22 ) 5RE=(7, 17.9) -
I A=)FiE=8.4, BENIFE=144 M R)FRE=(5, 8.4), -
B £)1I5kE=(6, 11.6)
BER BE2)I5=14 B £/I5E=(7, 11.3) -
PN FE=9.7 ZEIiE=(10, 55.1), ZE|II[HEHRA(L)]
FRiE=(6, 7)
HESX B)IFE=12, BiRIGRE=41, ZEIRE=(9, 61.6), ZE|I[HERAR(L)]
ANFREE=9.7, IF)IIFE=3 5 )1153%4=(6, 11.5),
BIRNIFREE=(10, 4.1),
fl)I5RIEE= (6, 8.1),
RFNIFEE=(6, 2.2)
EAK EBNIGRE=8, #WHE)IRE=-12 EBNIFRE=(10, 7.2), —
#E ) FRE=(8, 9.4)
PEX A FRE=12, 8 IEF)IRE=8.3 )| FRE=(8, 9.4), —
PbIEF)IFE=(11, 8.2)
Hiix BbIE 3 )I17I8=5.5, A )IIFHE=9.1, B IEF)IFRE=(10, 4), —
EEFIRE=83 A FRsE=(11, 9.1),
EEFNRE=(11, 82)
Z2EK W |IRE=207 W JI7E=(5, 207) -
F[A=3 AFHIRE=148, R /FE=37, AMFHIE=(10, 11.8), FENERKF(E)]
BeS B )1 8=37 .1 HA Il =(12, 35.6),
FEERJII5RE=(10, 20)
wIBX FFHIE=16.6, BF)IIFkiE=10, A#H)RE=(6, 11.7), FNCAKIE-ERKFA(E)]
FriAl )17 E=36.9 BF)IRE=(12, 9.3),
#A R )= (10, 29.5)
BwEX FF)7E=9.5, BF)IE=64 B#HF)IRE=(11, 6.1), -
B F)II5EE=(10, 5.3)
23R AR BEX FRE)IR%=38.2 PRERIIRig=(8, 25.8)
SHARK F& R IR st=38 FEER)II5RE=(9, 25.6), FENERKF ()]
FFRE=(12, 78.7)
THER F& R 1l R st=40 BRI 5RLE=(7, 32), FENERKF(E)]
FelFRiE=(9, 78.7)
FIRE F& R I FRst=38 F& I SRtE=(12, 22.2) FENCERKF ()]
BIRX PR R )11 5Rei=38, #&#)I151E=20, FRE IR E=(14, 38), BIE D,
ER)IFE=87 AR SRL=(14, 19.8), = (AEFEE) [(AEF],
FElFEi=(10, 78.8), Z- w2 [EFARKM],
ERJIFRE=(10, 8.7) FENEHRKR ()]
B HJIGREE=31, #&#E)II5RE=20.1, )l Frt=(8, 20.9), PNILFIT,
K )ig=9.7 EE)RiE=(13, 15.9), SIFIEFE],
IR NIGRE=(13, 14.2) N EHRKM ()]
IFRNIE )1l 5%45=33.8, IBIF IIFkiE=14.7 FIFE=(10, 78.6), SIFNIERE],

o)1l 5RiE=(8, 33.8),
IBIF)IIGRgE=(8, 14.7),
IR IRE=(14, 14.4)

FINERKM(E)]
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i f-Hhish AT E REREEHEE PP HEAEKFRICLDHEE
ZEILE ST IR RtE=12.5 ZEIfiE=(12, 49.2), EZENEE =
FRYE)I 3 E=(6, 9.1)
REH™H fili)1157735i=6.8 IFRE= (11, 6.8) -
=FEH F)IFH=10.9, 1)1 FtH=8.4, 7)1 4=(10, 10.9), —
)| Fit=4.8 fWFEE=(11, 7.9),
) FRtEg=(13, 4.1)
FFepTh F)1I5%i8=10.2 ZEEIlfiE=(10, 58.3) ZEIIRR]
BE™ YR FRE=14.7 ZEJIRE=(10, 38.2), LI [FA##E]
TEYE ) 5Rd=(6, 14.7)
Ffah F)IlEi=12, ARIFE=5.4 ZEJIFRE=(10, 59), ZEIIRRE]
F)I15miE=(17, 10),
ARIGRE=(12, 5.4)
INEFHT 7 )1157R48=9.5, 1l)IIR%=5.4 )1RE=(13, 9.5), —
AW)IFEE= (13, 4.5)
INET AEFIRE=4.9 REFNRE=(9, 4.2) -
EXSIT 22 YR )1 =13.6, #N3E)IIFR15=9.7, YR )1 RE=(5, 13.4), —
Je)IE=5.6 HNE) == (5, 9.7)
EoFh F1515=7.6 B )IRiE=(11, 6.2) -
Eizh ZEIE=(11, 48.7) EZIIEER AN
AT B3 )I1518=13.2 ZEEIfEi=(10, 59.6), ZEN[RR]
BIRE=(17, 11.4)
EPNiEH IR FiE=9.1, ZRBIFEH=44 ZEY )11 5= (6, 9.1) -
BT 223 )15 i5=13.6, #NH)I5R15=19.6 228 )115iE=(10, 13.6), -
AR )11 7= (10, 19.6)
BABX™ 2R )IjE=11.6, E&)IF1H=88 £ 8 )imiE=(9, 10.2), —
EEIFiE=(9, 8.8)
EEA L™ BRI FRE=10.1, Z258)115R15=4.9 5% YE )1 7= (6, 10.1), —
2238 )11 Fitsi= (10, 4.9)
EEE ST B3 RE=8.1 RE#FFGRE=(9, 6.5) -
ZETRED HiEh Z =392, &/IIHE=16, ZEIfEi=(9, 39.2), L) [FA##E]
EIRGRE=6.4, RAJIFE=11.2, BJImiE=(6, 7),
/B RIFRIE=4.6 SIRRE=(6, 6.4),
BARNIFRE=(10, 9.1),
de/NERNIFRIE=(10, 3.6)
BEm ZEFfE=(12, 41.2) ZE) [R#HE]
PR ZE =8, 40.1) EZIE R
HEDHEHT iR )IFRE=9.2, F)I15R15=23.6, BUIRE=(8, 23.2), LI [FA#HE]
SEF)IFRE=11.2 SEF)IRE=(5, 11.2)
ITEAT PRI ) 5Ri=9.5 BRI FRE=(8, 4) —
B HET EHIIRE=11.5, L RAEF) =44 SEFH I RiE=(8, 8), -
AL RAE )= (6, 3.5)
R P RE=7.3, BUlGRE=14.9, BOIGRE=(11, 11.9) —
JERR)IR=13.7
B % EEET ZE)IFRE=32.8, BIRJIIGRiE=18, LE)IIFRE=(9, 32.8) -
KR NRE=8.5
ZEmE NEFH SRR RE=11.3, WWA)IFHE=5.2, =)= (6, 11.3), LI [FAhE],
B )IFE=13.8, XEIIFiE=10.7, LR JIRiE=(6, 5.2), FENGRNIE]
SRLIFR=9, JIIOJI5E=9.3, )= (6, 13.6),
Bith)IIFEEE=8.8, ILWAJIFH=6.9, ERig=(6, 22.8),
FFRE=25.9, KiR)IIFRtE=4.4, AE)IFE=(6, 10.7),
EZE) 157 1=6.8, EB7)115k18=4.9 W= (6, 9),
JIa = (6, 9),
B RE=(8, 4.4),
WANIFEIE=(6, 6.9),
ZEIGRIE=(9, 49.6),
BOIGFRIE=(9, 20.7)
BTE™ B)IRE=15.2, BE)IFHE=9.1, B RiE=(6, 15.2), —
EBRIFRE=10, EHF)II5R15=3.7, BHIRE=(6, 9.1),
FREE)R1=6.4 R IFE=(6, 10),
BhFIE=(10, 28)
=k 4 EARNFRE=6, Aih)IFE=9.4 ENRE=(T, 29), EZEIINE N
BARRE=>13, 6), ENGENIE]
ZE)IFE=(11, 47.8)
ZEH S HIIFE=9.5 KE)IFiE=124 ZEIE=(5, 42.2), ZEIIRR]
ZHIIRE=(7, 8.9),
KRE)IFE=(5, 12.4)
Fam ZiR)IFRE=55 ZIRNIGRE=(8, 5.5), ZEJI[RR]

ZE)IRiE=(8, 56.5)
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